— it EEABERTYNR—ILY—
AXEH
F16@EBEXIVEFR—LY =T vHIFRT—Y Bifi

JFL:

BFIyhR—ILU—T

B B i20144E7H19A(1) 18:00 &M% SIBR AT TVIRITT LG, BRE
x & M 5 R [212°C | 8 | 94% T EvF(2) £EBREZ EvFERE KEH
TyFaAIviat—ikE BE * B iKE EH BlE2iFAK EE BEERSFR 8 BEH
BHT7 v — (ZE B Bl & 1iEES M mosnaiE 1L K SEERIB LA ER B 661 A
= - = -
BE 2627 1 _— 9 Bs : 23—24
y=—fl&FC 2 | 2 T RIEKS
KICK OFF
3 va—+h = . F | || & . = va—+k R
No. | OUTHE&FS wig | = RF A S|E|E|® RFA Rt ais OUTESFS: No.
0 EF & 1|GK|GK| 1|%EE && 0
0 KR 2R 3| DF|DF| 14|E% Z=t 0
1 1 IWE HA 5| DF|DF| 15|B % &— 0
0 HH FR 22| DF|DF| 16|t87T &1h 0
1 1 #iH &{= (Cap.) 4|MF|DF| 26| E& N 2E 1 1
11 2 TE 14|MF|MF| 6|88 #KX 1 1
0 INR R 16|MF|IMF| 7|& —% (Cap.) 0 90+14%
0 MR R 19| MF|MF| 10|t&7% & & 1l 3 2 1
134 3 3| 1|HE #E 9| FW|MF| 19|;&Eh thEH 0 7%
664 0 4t T 11{FW]FW| 11| BEX 1l 2 2 875
1 1 Hh 4 17| FW]FW| 28|80 B & 0
RN MK 32(GK|GK| 21|%HE B
TR #5E 18| DF|DF| 17[&K #5F 1 1 19
hEEA 20| DF|DF| 18| = H %12
11 2 2 HR E2E 13|MF|MF| 5| £t 0 7
BTHE 1z 15|MF|FW| 20|54t EA 0 11
R B 6|FwW
9 1 1| 1)EQ R 10 FW
=4 . Ri5 R R =4 . Ri5
26 2| 4i58E BEC RAR-Y| B H#A AR 575y = | 28i45H AF 27
M 5 as I 835y & | 16:48T E1A 57
Fi¥ = Fi ¥ 854 2 | 1TIEAK #£F 52
P4 11 ¥a—+ 8 4 4
8 5 13 GK 12| 5 7
6 1 7 cCK 11 110
4 7 11 E#EFK| 15 8 7
0 1 1 RI#FK 0/ 0 0
0 1 1748 o] 0 0
1P 0 1 PK 0 0 0
BREME| BRF—L | No. BEE 237 |BEEA REE: ~FUJIL ->TaR 1:FEHRAR xSBE SYa—bk HATAVY
235 Fznziixs| 11ihIE R 0—1 | ACK 7 1 ths-1 11 HS
295 |zuzika | 10i4E [EE 0—2 | %E-1 10 — HFFPICEFABK k-1 1 - 10 iovswEsL-
HRES
314y |V=—iusFc| 9iFTH #E 1—2 | B 19 - 16 - 9 invwITL-i KBS
845 [v=—lliaFc| 1020 R 2—2 | shg-1i PK 10 | £=BS
(G & RFRE] BTH46:20(1:20) . $%449:32(4:32) . HEFTERR 1:49:22
[fm&]

G THAR) ORIZIE, BHEFKDSS, BFEF—LOFTHAFICEDHE. RRLTVET,



